B F1EEDDFIVY (Nod)
X 1L BREETTEIRELGDT, SHERKLEIELNTLELD.
2 ERINEHEEAHFTH, SETOIEED LD THATHYFEEA.
3. —IOTHLMGEERDT, BEZRTHLIPYET IEEEMENEYET.
4 ZEDR—DRTRIGICROR—DITED(E, ZBDOREEZEETEET.

[FIR=D / &3x—T ] [EEEEN [EEUEER

(ED#-ED% ]
1. ROFEZLAGSL.

() -2-(-5)+6=]
2) 2X(-6)+8= |—

@) 10+(-6)x2=]

@) 16+(-D+4x(-2)=]
5) -2-{-1-(-7=]

6 27+(-3)x(-7)=]

D (-62-42=]

® -L2+Ix(-37=]

© (-21)=(-7)-(-5Px4=][
o 22-(-3P=[ |

O==+¢=a1—IZFE%

O=2BDEHEZERD




B F1EEDDFIVY (Nod)
X 1L BREETTEIRELGDT, SHERKLEIELNTLELD.
2 ERINEHEEAHFTH, SETOIEED LD THATHYFEEA.
3. —IOTHLMGEERDT, BEZRTHLIPYET IEEEMENEYET.
4 ZEDR—DRTRIGICROR—DITED(E, ZBDOREEZEETEET.

[FIR=D / &3x—T ] [EEEEN [EEUEER

(ED#-ED% ]
1. ROFEZLAGSL.

) -2-(-4+6=]
@ 2x(-7+10=]

@ 8+(-7x3=[

@) 54+(-6)+7x(-3)=]
5) -4-{-1-(-3=]

6 18+(-3)x(-9)=]

D (-62-12=]

® -L2+Ix(-37=]

© (-30)+(-6)-(-2Px3=][ |
o 22-(-3P=[ |

O==+¢=a1—IZFE%

O=2BDEHEZERD




B F1EEDDFIVY (Nod)
X 1L BREETTEIRELGDT, SHERKLEIELNTLELD.
2 ERINEHEEAHFTH, SETOIEED LD THATHYFEEA.
3. —IOTHLMGEERDT, BEZRTHLIPYET IEEEMENEYET.
4 ZEDR—DRTRIGICROR—DITED(E, ZBDOREEZEETEET.

[FIR=D / &3x—T ] [EEEEN [EEUEER

(ED#-ED% ]
1. ROFEZLAGSL.

) -6-(-10)+12=]
@) Ax(-5)+10=]

@ 9+(-6)x2=[ |

@) 6+(-2)+3x(-6)=]
5 -3-{-2-(-9=[
© I1=(-Dx(-9=]

> (-8F-12=[
® -&+Ix(-47=]

© (-54)=(-6)-(-2Px5=] |
a0 42-¢-33= |

O==+¢=a1—IZFE%

O=2BDEHEZERD




B F1EEDDFIVY (Nod)
X 1L BREETTEIRELGDT, SHERKLEIELNTLELD.
2 ERINEHEEAHFTH, SETOIEED LD THATHYFEEA.
3. —IOTHLMGEERDT, BEZRTHLIPYET IEEEMENEYET.
4 ZEDR—DRTRIGICROR—DITED(E, ZBDOREEZEETEET.

[F2R—D / &3R—T ] [EEEEN [EEUEER

(5% ]

2. ROFHEELLGSL.

iy -143 1

3 ./
(2) §+(
4.6 ., 45— _
(3) §>< ~(-4)=

(4) 1+‘3:1 I—
4

(5)

© (& -3)+d 3)=|_
1.3

@ (2)2-
o 3 )2xt (-

(10) 2+(-§)2-3><(—§)2=F

O==+¢z=a1—IZFE%

O=2BDEHEZERD




B F1EEDDFIVY (Nod)
X 1L BREETTEIRELGDT, SHERKLEIELNTLELD.
2 ERINEHEEAHFTH, SETOIEED LD THATHYFEEA.
3. —IOTHLMGEERDT, BEZRTHLIPYET IEEEMENEYET.
4 ZEDR—DRTRIGICROR—DITED(E, ZBDOREEZEETEET.

[F2R—D / &3R—T ] [EEEEN [EEUEER

(5% ]

2. ROFHEELLGSL.

-

1.3_
0 -g+5_|_

(2) g-}-(_
(3) +§><(-§)=-||:
(4) 1 +§+
5 1 g X( -
© ©C-2)xd _I)ZF
(7
® @r-1=

9 (-3)2><§+

(10) 2+(-§)2-3><(—§)2=F

O==+¢z=a1—IZFE%

O=2BDEHEZERD




B F1EEDDFIVY (Nod)
X 1L BREETTEIRELGDT, SHERKLEIELNTLELD.
2 ERINEHEEAHFTH, SETOIEED LD THATHYFEEA.
3. —IOTHLMGEERDT, BEZRTHLIPYET IEEEMENEYET.
4 ZEDR—DRTRIGICROR—DITED(E, ZBDOREEZEETEET.

[F2R—D / &3R—T ] [EEEEN [EEUEER

(5% ]

2. ROFHEELLGSL.

-1 43 1

o 1y

5

6
4.6 ., o |
@ gxg.(-4)—-|_

@ ﬁx(-§)+21=-l|:
(®) é-ix(-é)+§=||:
(6) (% —é)x(% -é):F
7 g +é x(g ] §)Z||:
® L -(-é)zzF

0 (-8 pxE 4 =||:

(10) 2+(-§)2-3><(—§)2=F

O==+¢z=a1—IZFE%

O=2BDEHEZERD




B F1EEDDFIVY (Nod)
X 1L BREETTEIRELGDT, SHERKLEIELNTLELD.
2 ERINEHEEAHFTH, SETOIEED LD THATHYFEEA.
3. —IOTHLMGEERDT, BEZRTHLIPYET IEEEMENEYET.
4 ZEDR—DRTRIGICROR—DITED(E, ZBDOREEZEETEET.

[FIRN—T / &3R—T ] [EEEEN DR

[ xX=FEA ]
3. ROEFHEZELIGELN.

() -2x+4+5x-3=] x+[

@ 6x+7y-x+2y=] x+[

@ (b-6a)-(-3a-2b)=-] a+| b
@ -2@x-3)+32x-4)=] x-|
5) 3x-2{1-(-dx+3)}y=-] x+] |

o 3
o 2e-4 6.5 _ aal
3 2 [
3 -5 |_ +|_
© -7 @n-1-%5s )_-xl_
1 3 _|_ +|_
(10 4{4- 2(1 - j)}_xl_

O=+*=a1—IZE%

O=2BDEHEZERD




B F1EEDDFIVY (Nod)
X 1L BREETTEIRELGDT, SHERKLEIELNTLELD.
2 ERINEHEEAHFTH, SETOIEED LD THATHYFEEA.
3. —IOTHLMGEERDT, BEZRTHLIPYET IEEEMENEYET.
4 ZEDR—DRTRIGICROR—DITED(E, ZBDOREEZEETEET.

[FIRN—T / &3R—T ] [EEEEN DR

[ xX=FEA ]
3. ROEFHEZELIGELN.

) Sx+6-3x+4=] x+[ |
0 Sx+5y+dx+y=] x+
2 (8b-4a)-(-a+5b)=-| a+] b
(4) -4(3b-5a)- 2a-5b)=] a-[ b

5) -dx-3{2-(-2c+D}=-] x-[
x .1 x 1 _ I_
2 %33 AT
@) 2-x_1-2x:|_x+|_
3 4 [

(8) %(4 -3x)+3(§x w:'l

(6)

O=+*=a1—IZE%

O=2BDEHEZERD




B F1EEDDFIVY (Nod)
X 1L BREETTEIRELGDT, SHERKLEIELNTLELD.
2 ERINEHEEAHFTH, SETOIEED LD THATHYFEEA.
3. —IOTHLMGEERDT, BEZRTHLIPYET IEEEMENEYET.
4 ZEDR—DRTRIGICROR—DITED(E, ZBDOREEZEETEET.

[FIRN—T / &3R—T ] [EEEEN DR

[ xX=FEA ]
3. ROEFHEZELIGELN.

) -2x-5+m-3=] x-[
@) Sx+y-Sx+7y=-[ x4
2 (8b-4a)-(-a+5b)=-| a+] b
@ 2(-3x+1)-5-D=-] x+] |
5) 3x-2{1-(-dx+3)}y=-] x+] |

1 x 1.1 I
(6) §+§ '§ -Z_I;x+|;
() Sx-1 Jfﬁ’:'l
4 3 I_
@) g(-x+1)-i(3x—5)='l—lx_+l—
1 3x+1 _|_ |_
(9) 2(3x-4- xZ )= 9i_
1 13 ) x
(10) 6{§ 'Zl(é -x)}_xl_

O=+*=a1—IZE%

O=2BDEHEZERD




	gakunen_1_1a1
	gakunen_1_1a2
	gakunen_1_1a3
	gakunen_1_1b1
	gakunen_1_1b2
	gakunen_1_1b3
	gakunen_1_1c1
	gakunen_1_1c2
	gakunen_1_1c3

